odh
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TRCHTAS 4 - SR _ EREE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg ® 1% #

b| FeHHE Eotid 30 | L1l 2,60 3.3 1.7 1.7

AR iy 40 | 1.1 M 2.6 3.3 1. 7R 1.7

AR i 40 | 1.1 WE 2,680 3300 1.7 1.7

B Eat: 40 | 1.1 2. el 3. 300 1L TG 1.7

HRE i 40 | 1.1 |H 2. 680 3. 300 1T 1.7

Busiey g 40 | 1.1 BE 2. 60 3. 30 1. 7L 1. 7

Ry g 40 | 1.1 [Hl 2. 660 3. 30 1.7 1.7
N F Eoec 30 | L1 [fE 2. 6E 3. 30 1 TE 1.7

fi2m ST 40 | L1 B0 2.6t 3. 30 1. 7L 1. 7

fiiit g 40 | 1.1 [l 20660 3. 30 1T 1.7

B Eoi:) 40 | 1.1 2.6l 3.3 1780 1.7

4 ESCY 40 | 1.1 |f 2, 6l 3. L7 1.7

3 st 40 | 1.1 2. 60 3. 30 1. 7HE 1.7

L E=ET 40 | 1.1l 2. 600 3. L7l 1.7
2| kil Est 30 | L1 FE 2680 3.3 1 THE 1.7

il ] 30 | 1.1 [#E 2. 60 3. L7 1.7

HE =9 30 1.1%22@3. 1. T 1.7
| LR, g 40 | 1.1 2, 6l 3. 30 1. TR 1.7

L/ B st 40 | L1 2. 60 3. 30 17 1.7

LR H geuid 40 | 1.1 2.
B KHBE €01 40 | 1.1 ¢ 2.

PNGES g 40 | 1.1 2.

KH gt 30 | 1.1k 2.

KIR £ 40 | 1.1 2.

KET £ 30 | 1.1 [# 2.

# g 30 | 1.1k 2.

L PN B 40 | 1.1 | 2.

R Eai 30 | L1}k 2.
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g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg ® 1% #
B /bR g2 40 | 1.1 2.6 3. 3E 1.7 1.7
NS X1 40 | L1 [Fh 2. 6l 3.3 1L 7HE 1.7
Nl i 30 | 1.1 RE 2.6l 3. 300 1. THE 1.7
AN Eat: 40 | 1.1 2. el 3. 300 1L TG 1.7
N it 40 | L1 [E 2. 680 3.3 1L THRE 1.7
7y i g 40 | 1.1 BE 2. 60 3. 30 1. 7L 1. 7
fiti o I Eeed 40 | L1 B0 2,60 3. 30 170 1.7
Pt Eat) 30 | 1.1k 2.6 3. 17l 1.7
HER Eo 40 | L1 B0 2.6t 3. 30 1. 7L 1. 7
FEFE E= 40 | 1.1l 2.6 3. 17 1.7
&I £ 40 | 11l 2.6t 3. 360 1L 7L 1.7
bR ESE) 40 | 1.1 | 2. 68t 3. L7 1.7
st gt 40 | 1.1 2. 600 3.3 1L T 1.7
ME E=ET 40 | 1.1l 2. 600 3. L7l 1.7
JH4E T 40 | L1 FE 2.6 3.3 1. 7wE 1.7
JNFE ] 40 | 1.1kl 2.6H0 3. L7 1.7
JH s 30 | 1.1 [k Q.ZE 3. 300 1.7 1.7
| b g 30 | L1 RE 2.6 3.3 1. THE 1.7
el st 40 | L1 2. 60 3. 30 17 1.7
el g 40 | 1.1 2.
el gz 40 | 1.1 ¢ 2.
<| #5A g 40 | 1.1 2.
S Eet:] 30 | 1.1 [# 2.
B 5 £ 40 | 1.1 2.
| HE Ea:7 30 | 1.1 2.
T Eati 30 | 11 #h 2.
FLE) B 40 | 1.1 f#f 2.
Fi g2 40 | 1.1 2.




A
AT

4F0 344y 5ooR® K 3E
TRCHTAS 4 - SR _ EREE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg ® 1% #

&| RET =it 40 | 11 #E 2.6 3. 30 1. 7HE 1.7

Bx g2 40 | 1.1 M 2.6 3.3 1. 7R 1.7

i) i 40 | 1.1 WE 2,680 3300 1.7 1.7

R Eat: 40 | 1.1 2. el 3. 300 1L TG 1.7
U TR#® Bt 40 | 1.1 [P 2.6l 3. 3E 1 TRE 1.7

F&W g 40 | 1.1 BE 2. 60 3. 30 1. 7L 1. 7

FEEHT Esti 40 | 1.1 [l 2. 680 3. 30 1T 1.7

TET et 40 | 1.1 2. 680 3. LTl 1.7

Tl Eot:) 30 | 1.1 |Wh 2.6t 3. 300 1 THE 1.7

L] g 30 | 1.1t 2.6l 3. 30 170 1.7

S Eoi:) 40 | 1.1 2.6l 3.3 1780 1.7
4 MR ESCY 30 | 1.1t 2, 6t 3. L7 1.7

#E Estid 40 | 11|40 2 6 3. 30 1 TR 1.7

fapg Es:) 40 | L1l 2.6t 3. 30 1L 7R 1.7
R T 40 | L1 FE 2.6 3.3 1. 7wE 1.7
7o) B ] 40 | 1.1kl 2.6H0 3. L7 1.7

REESE e 40 | 1.1l Q.ZE 3. 300 1.7 1.7

b g 40 | 1.1 2, 6l 3. 30 1. TR 1.7

e st 30 | L1 2.6l 3300 1 THE 1.7

P gaeid 40 | 1.1 2.

S i 40 | 1.1 ¢ 2.

e g 40 | 1.1 2.

FE A gt 40 | 1.1 (¢ 2.

FE R £ 40 | 1.1 2.
& L £ 40 | 1.1 2.

L Eati 40 | 110k 2.

e Estid 40 | 1.1 9 2.

B ER ey 40 | L1k 2.
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TRCHTAS 4 - SR _ EREE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg ® 1% #

& B g2 40 | 11| 2 el 3. 3% 1. 7R 1.7

R g 30 | L1 RE 2,60 3. 300 1 THE 1.7
72 PR i 40 | 1.1 WE 2,680 3300 1.7 1.7

A Eat: 40 | 1.1 2. el 3. 300 1L TG 1.7

el B 30 | 1.1 h 2 60 330 LT 1.7

iR g 30 | 1.1 HE 2.6l 3.3 170 1.7

hE Esti 30 | 1.1 (b 2.6 3.3 1 TE 1.7

HHET ol 40 | 1.1 [t 2. 680 3. 17l 1.7

il Eot:) 40 | 1.1 B0 2.6l 3. 30 170 1.7

fie I 40 | 1.1l 2.6 3. 17 1.7

b £ 40 | 11l 2.6t 3. 360 1L 7L 1.7

WET ESCY 40 | 1.1 |f 2, 6l 3. L7 1.7

I S 40 | 1.1 [l 2. et 330 1L TRl 1.7

P Es:) 40 | L1l 2.6t 3. 30 1L 7R 1.7
) AH T 40 | L1 FE 2.6 3.3 1. 7wE 1.7

L ] 40 | 1.1kl 2.6H0 3. L7 1.7
| P s 40 | 1.1l Q.ZE 3. 300 1.7 1.7

B g 30 | 1.1 WE 2. 60 3030 1 7 1.7

RIE st 40 | 1.1 2.6 3. 300 1.7 1.7
EE geuid 40 | 1.1 2.

RAN gai 30 | 1.1k 2.

R g 40 | 1.1 2.
N S B Eet:] 30 | 1.1 [# 2.

et E2:1 30 | 1.1 2.

BAT £ 30 | 1.1 [# 2.

R H Eati 30 | 11 #h 2.

HiE Estid 40 | 1.1 9 2.

R Eai 40 | L1 R 2.
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TRCHTAS 4 - SR _ EREE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg ® 1% #
N AR g2 40 | 11| 2 el 3. 3% 1. 7R 1.7
% S X1 30 | L1 2.6 3. 30 LTHRE L7
i E= 40 | 1.1 2. 60 3. 30 176G 1.7
HET Eat: 40 | 1.1 2. el 3. 300 1L TG 1.7
¥ B Ealin 30 | 1.1 [Wh 2. 60 3,300 1 THE 1.7
B 1 30 | 1.1 [l 2. 60 3. 17l 1.7
Hp Esti 30 | 1.1 (b 2.6 3.3 1 TE 1.7
i) ol 40 | 1.1 [t 2. 680 3. 17l 1.7
R Eot:) 30 | 1.1 |Wh 2.6t 3. 300 1 THE 1.7
©H I 40 | 1.1l 2.6 3. 17 1.7
hE £ 40 | 11l 2.6t 3. 360 1L 7L 1.7
4 AR ESE) 40 | L1 2 et 3. L7 1.7
HEH st 40 | 1.1 2. 60 3. 30 1. 7HE 1.7
ZAH E=ET 40 | 11 W 2. 60 3. L7 1.7
A =2 30 | L1 B 2. 60 3. 300 1.7l 1.7
A Lt 40 | 1.1kl 2.6H0 3. L7 1.7
=RE s 30 | 1.1 [k Q.ZE 3. 300 1.7 1.7
B Eoti] 40 | 1.1 E 2.6l 3. 30 1, THE 1.7
BA Eoti 40 | 11|k 2. 6l 3. 300 1 7E 1.7
e W geuid 30 | L.1# 2
R R H gai 30 | 1.1k 2.
i gt 40 | L1 2,
Wi Eet:] 40 | 1.1 W 2.
HES £ 40 | 1.1 2.
e Ea:7 40 | 1.1t 2.
D B Eati 40 | 110k 2.
| HEE £ 30 | 1.1 [#h 2.
i g2 40 | L1 [HE 2.




SF 3FES % $ 2% 65

HEEA 4 - S fEm LSS

= = . iy EEEER R A S

g "7 (TR R & H He % i B oo M B MR | ERE | Eoh | B
% i % @ = e i

X &8 £ 30 | 1.1 W6 2. 60 3.3 1,7 1.7

tu b il 40 L1l 2. 000 3,300 1.7 1.7

o fol e 40 .10 2.6l 3. 300 1700 1.7




